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10590
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3030 EIRLKIFS 48 50 98 40.4 Enikif
12120

3031 T THET ST 13 0 13 2.8 EERik]
840

3032 % ATT 39 26 65 30.1 ERiki]
9030

3033 qEr vy 47 50 97 375 It
11250

3034 * AeHT 48 50 98 41.7 ERiki]
12510

3035 T g 49 50 99 44.9 ExRiki
13470

3036 Safeq 91 FAR 19 0 19 5.9 ELuik

1770



IERRE RIS
BEEIMBER U

SEE s 2018 S EHISE ) TET. FE SR
ATHRATH Tt &1 AN T T 1 T 97 2 A it/ CIRUIE)
50 50 100 st

(KDPH)

3037 RPEREINCE ] 49 50 99 51.2 Enikif
15360

3038 TSI FHTL 48 50 08 35.8 Enik]
10740

3039 ot 7191 grEv 48 0 48 15.1 = -l
4530

3040 ot Sreter El El 0 El AR

3041 M FHT 46 12 58 27.4 = -l
8220
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10620
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3114 Tfores AT 41 25 66 30.0 I<fiof
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0
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0
3124 SEnEEIl 26 0 26 0.0 T -l
0
3125 AT FHT 27 0 27 0.0 = -l
0
3126 | FHE q10eT 25 0 25 0.0 = -l
0
3127 RSt Hareas 32 45 77 33.9 Ifror
10170
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9510
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3136 At oY T 39 50 89 35.5 Enikif
10650
3137 i =g o 41 50 91 37.8 Enik]
11340
3138 S st v 40 50 90 39.2 Enik]
11760
3139 oot T & 38 0 38 0.0 7 -l
0
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0
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0
3147 GiGLRe 37 50 87 35.1 It
10530
3148 AT T 42 50 92 35.1 Enikil
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3149 T T 43 50 93 35.9 Enikil
10770
3150 LGAMERC £} £} 0 el EREIk
3151 Trfgeft ve aThEw 37 40 77 32.9 It
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3158 ERICISIERE] £l £l 0 q EREIERE]

3159 HT S 41 50 91 42.0 ERiu]
12600

3160 g e 40 50 90 35.7 Exiki]
10710

3161 &rfae a 38 50 88 35.7 Enik]
10710

3162 EIECEC CIn 20 11 31 27.1 ERaik]
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3163 e afer 42 0 42 23.8 = -l
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3164 LUER 43 0 43 24.0 = -l
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9450

3173 AT STATEH SISt 29 39 68 32.7 Rl
9810
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3183 " it i £l £l 0 q EREIERE]
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3185 AT Higa T £} £} 0 £} EREIS

3186 oo &t oo £l £l 0 q EREIERE]
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4140
3194 * T A 0 0 0 2.1 EERik]
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3195 ST FHTT |1g £} £} 0 el FItera
3196 IUE AqAr T T 0 q ELRIEK
3197 % =g HigT 33 0 33 0.0 T -l
0
3198 #ft T £l £l 0 q EREIERE]
3199 fTiq FATT 41 0 41 21.7 = -l
6510
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0
3206 FaT Tl HAT T T 0 q ELRIEK
3207 LT FHTT AT 33 0 33 12.3 T -l
3690
3208 fraw FA £l £l 0 q EREIERE]
3209 EIREIG] £l £l 0 £l EREIERE]
3210 TH Tt 45 47 92 34.3 It
10290
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9300
3220 & &F WrgT T £l £l 0 q EREIERE]
3221 TH ST 44 44 88 33.7 ERiu]
10110
3222 & At Frgae T T 0 q ELRIEK
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3293 £ st 46 49 95 34.8 Exiki]
10440
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10650

3295 HESRIE IR 48 50 08 35.3 Eniki
10590

3296 TEAAT 0T 46 0 46 14.3 = -l
4290

3297 T 46 37 83 32.3 ERiki]
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0
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